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1 Summary

Encoding of TFCI depends on its length and the modulation mode in use. When QPSK modulation is
applied in 1.28Mcps TDD, the coding scheme for TFCI is the same & that of 3.84Mcps TDD. The
same TFCI length (0,1,2,3~5,6~10) like 3.84Mcps TDD are supported, and the corresponding encoded
number of bitsis(0,4,8,16,32).

2 Proposal

It's proposed to discuss and include the following text proposal into the clause 4.4.1 Coding of
transport format combination indicator (TFCI) for QPSK



Changes to working CR of 25.222 begin

4.4.1 Coding of transport format combination indicator (TFCI) for
QPSK

The coding of TFCI for 1.28Mcps TDD when OPSK is applied is same as that of 3.84Mcps
TDD.Cf.[4.3.1 ' Coding of transport format combination indicator’].

44113 Mapping of TFCI word

Denote the number of bits in the TFCI word by Nrec, and denote the code word bits by bk, where
k=0,... NTFCI—l;

When the number of bits in the TFCI is 8,16,32, the mapping of the TFCI word to the TFCI bit
positions shall be as follows.

b b

0 N/4-1 b

b b b

b N/4

N2 Vv VIV Vv N2

N/2-1 N/2 3N/4-1 3N/4 N-1

1st part of TF( 2nd part of TF(iI 3rd part of TF( 4th part of TF(

Figure [X1]: Mapping of TFCI word bits to TFCI position in 1.28 Mcps TDD option,
where N = Ntrcl.

The location of the 1st to 4th parts of TFCI in the timedot is defined in [7].

When the number of bitsin the TFCI is4 , the mapping of TFCI word to the TFECI bit position is
that the TECI bits are equally divided into two part for the consecutive two subframe and mapped
onto the end of the first datafield respectively . The 4 hits mapping is show as follows;
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Figure [X2]: Mapping of TECI word bits to TECI position in 1.28 Mcps TDD option, when
Nrrc.=4

If the shortest transmission time interval of any constituent TrCH is at least 20 ms the successive
TFECI wordsin the framesin the TTI shall beidentical. If TFECI is transmitted on multiple timeslots
in aframe each timesot shal have the same TFCI word.
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